
Installation Manual

Elios Basket 8 Panel Post

https://solarelios.com



Components List:

01

Elios Logo plate

x1

Angle steel

x4

U-shaped Steel

x16

ST6.3x25mm Tapping Screw

x28

Bottom square base

x1

M8*60mm bolt +Flange Nut

x16

M8*25mm bolt

x16

M22*50mm bolt

x8

https://solarelios.com



Step1. Secure U-shaped steels to the bottom square base using M8x25mm 
bolts(swage nuts are inside the base).

02

Installation Steps：

https://solarelios.com



Step2. Place the wooden planks inside the U-shaped steel.(Pls note: the thickness 
of wooden plank should be 35mm)

03

Installation Steps：

https://solarelios.com



Step3. Secure the angle steels to U-shaped steel using M8*50mm bolt +flange nut.

04

Installation Steps：

https://solarelios.com



Step4. Fix the logo plate to the basket using tapping screws.

05

Installation Steps：

https://solarelios.com


